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1. Introduction

During discussion of the LS from RAN WG2, RAN WG1 assumed the following:

· All UEs (UE1 through UE7) are in RRC_Connected mode (equivalent to LTE_ACTIVE)

· Cell A and Cell B and Cell E have identical centre frequency

2. Overall Description:
1. Cell A is a 20 MHz cell. Is it possible for a UE with a 10 MHz reception capability to be placed by the network anywhere within the 20 MHz cell transmission, or will there be a limited number of possible locations within the 20MHz cell transmission (for example, limited to the 3 locations shown in the diagram as UE1, UE2, UE3)?


Answer to 1: Yes, there are a limited number of positions.  RAN WG1 can agree that UE 1 and 2 must be 
supported.   RAN WG1 will determine if UE3 would be required. 

2. UE1 is a 10 MHz capable UE operating on a 20 MHz cell A. Is it necessary for this UE to perform measurements on cell A outside of the UEs reception bandwidth, for example to assist the network's decision where to place the UE within the 20 MHz cell transmission?


Answer to 2: The current view is that it is not necessary. It would be very complex for a UE to perform measurements outside the reception bandwidth without ‘measurement gaps’.  However, RAN WG1 is evaluating if it could be beneficial to have such measurements with long reporting period.

3. UE4 is a 20 MHz capable UE operating on a 20 MHz cell A.

a. RAN2 assumes that it is possible to perform radio measurements on cell B without needing to interrupt reception on cell A. Is this assumption correct? 


Answer to 3a: Yes!
b. Is it possible for this UE to receive broadcast system information from cell B without the need to interrupt reception on cell A?


Answer to 3b: Yes, it is feasible with additional complexity compared to 3a. RAN WG1 would like to 
understand to what extent receiving Broadcast System information from neighbour cells in 
RRC_Connected mode is necessary?

c. Is it possible for this UE to perform radio measurements on cell C without needing to interrupt active reception in cell A?

d. Is it possible for this UE to receive broadcast system information from cell C without needing to interrupt reception in cell A?

e. Is it possible for this UE to perform radio measurements on cell E without needing to interrupt active reception in cell A?

f. Is it possible for this UE to receive broadcast system information from cell E without needing to interrupt reception in cell A?

Answer to 3c through 3f:

Measurement and reception of system information may be feasible with considerable (for 3c and 3d) complexity. RAN WG1 thinks the deployment scenarios described above are quite rare.  Therefore RAN WG1 would like to understand the importance of having to do such measurements without measurement gaps? 

4. UE5 is a 20 MHz capable UE operating on a 10 MHz cell C.

a. Is it possible for this UE to perform radio measurements on cell B without needing to interrupt reception on cell C?

b. Is it possible for this UE to receive broadcast system information from cell B without needing to interrupt reception on cell C?

c. Is it possible for this UE to perform radio measurements on cell D without the need to interrupt reception on cell C?

d. Is it possible for this UE to receive broadcast system information from cell D without the need to interrupt reception on cell C?


Answer to 4a through 4d: 


RAN WG1 is not considering these measurements.  RAN WG1 thinks these scenarios are quite rare.

5. Do the answers to any of the questions above depend on whether the current serving cell and the neighbouring cell are time synchronised.


Answer to 5: No!

6. Do the answers to any of the questions above depend on whether the distance between centre frequency of the serving cell and the neighbouring cell are spaced by an integer multiple of 15kHz?


Answer to 6:


Assuming the question is regarding cells C and D relative to cell A and B, the answer is No. 

2. Actions:

RAN1 would like RAN2 to provide clarifications requested in answers to question 3. 
3. Date of Next TSG-WG1 Meetings:
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